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LOGIC

( Kannada and English Versions )

Time : 3 Hours 15 Minutes ]| [ Max. Marks : 100

( Kannada Version )
ZpesT : WD, BB, ToRe VBB, NS [02T, 030, 7R3N TT2ROA.
L 8 3NT oy, FFR9n ¢80y ¢ 10x 1 =10
1) B8 QNS Q0TTER> ?
2)  nyke 38, Q0ITER ?
3)  eITo RoSREN QN (SFTWOFT) 0BT ?
4)  ADOBR (CNFTIFE) NSRT ATNLIR)R) 2
5) W®RITITNI,TWIY, WIndewen FETRRLD AT ?
6) ©TSRII 0TI ?
7))  SOTBQRONTY, ATRQA.
8) OHWTB oTTeRd ?

9) Fodeen L0TTed ?

10) &%mwzﬁags %m@oéd T &TEBTY O30T ?
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I 8 3eNT GRFTETH BBy, FB NN 2,000 T8,Med), L0308 :

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

FTIOIETITED 27053 VOV NOTWTERD ?

POTBL,ROD ARPEROITY PR

ARRET DIFTI0E DOBRTITRy, LT,

F003002 0T ?

IBeBReR Ten GVoENB,T ?

QDFBIFONT B3 RENTTY PR

33,083, BB 0TTed ?

TOTRIT ANTIT DOTTERY ?

TYFEWOT AO3TT W, LITOWD.

FITTITITINT NOTTERD 7 YVTTIRTR k.

Fo00 08D, TIUFHOBNFTY, B0 WICAWD.

T,Z9,R DEINT 339,33,00TY, BRG.

10 x 2 =20
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A)

B)

{PAGE } Code No. 23

83 BINTRNTE), BRRTT0R Fow,3, 10-15 78, NFE). 08 TRSTY, TN :

23)

24)

25)

26)

27)

28)

4x5=20
ROITRECDZ0 B30T B, NYTY DIOA.

YOFIYLIOT T)&,030€) BFoTLITTY WSOA.

VTSRLIITE), B,230R8 YOTBTLANS 2$B0D YLBJCOINE BN ?

ATOOWE FITHZ, TORRIT OF, 00N o OFD €35 £3 0T0W0.

TO3RENT TOVT, CONSTY, LI0A.

Ty@BOT AN/ ORIR AT/ BER DRTRT, OB OFO &8F9

2BOD.

B3 BINTRNTE), (BRTWITTR TN, SBFETRLRNTTY, BOLOR, LT[0 :

29)

30)

31)

32)

33)

34)

4x5=20
F0S0T ITEE,T0eTont NT08 INRTBRLYRT W 00T, 833 008
C3RTINOR DTS IRTBRLR)TY W03

TR ¢FeE30IRT  TRTY DTN TRFTONZCVTTING T, BT 003
DY, DIFANHY TORFTOWBCITTOR SeTIE A, .

BRSTOW )BT BT, $FOTT MI0KELIRITY Tt eV T.

©TZ,038 o308, Fo00. SFINO0T WTE,03 Y003 3.

Qe AT, BPERITTY, OORYTTY, ) AL €03z ?

ORZ> N TT [AT T0BT OTJEFSE, VTR0, B3 00T Qe erREEe

VTFTZE, T2TL0.
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V. A) & S$NSRNEE, GRFTIETA SOaE, L0308 2x5 =10

35) UTIY RV BTBLONLTY E9R.

36) 3,908 H[ORCH WENTRY, L.

37) 53680 TOTLIT ALY 0BT, W:OA.

B) 8 3$NTYNYE), C3RRYTTTR wowE, 03 0 ¢ 1x10=10

38) MR D, AMTRNE ST F,39,ANETy, QROR.

39) ABTORIFT® TG / RO B,3,08 VT, DTFOR.

V. 8 3903 nameate 68 B39 w0308 2x5 =10

40) FIVNWT AR0NE), DT, PFNY TZTY WTOA.

41) “‘THTTJERD) 20T YOI, FTNT TG, 3B A

42) 0BT WIR0TY, AL W Ve, HWTHO3EIET ?
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{ PAGE }

( English Version )

Code No. 23

Note : Write the main question and sub-question numbers clearly.

Answer all the questions :

10.

What is Scientific Induction ?

What is a postulate ?

What is colligation of fact ?

What are the forms of proper induction ?

Can the plurality of cause be scientifically proved ?

What is observation ?

Define hypothesis.

What is explanation ?

What is experiment ?

Who advocated ‘Visishtadvaita Siddhanta’ ?

10x 1 =10

Answer any ten of the following questions in one or two sentences each :

11.

12.

13.

14.

What is law of causation ?
State the proof of hypothesis.
Write the uniformity of nature.

What is concatenation ?

10 x 2 =20
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III.

15.

16.

17.

18.

19.

20.

21.

22.

A)

B)

How does fallacy arise ?

State the crucial experiment.

What is Rival Hypothesis ?

What is perfect induction ?

Write about Primary law.

What is an analogy ? Give an example.

Write about cause and conditions.

Define the method of difference.

Answer any four of the following in 10-15 sentences each : 4 x 5 = 20
23. Explain the grounds of probability.

24. Explain the Aristotle’s view of causation.

25. What are the uses of scientific instruments in observation ?
26. Write a short note on conditions of good analogy.

27. Explain the characteristics of experiment.

28. Write a short note on method of residues.

Test and explain the validity of any four of the following arguments :
4x5=20

29. It is better to take rest when ill. Therefore we should always take

rest.

30. I met three scientists who are superstitious. For this I conclude

that “Scientists are superstitious.”
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31. Groundnuts are nutritious. Because Gandhi was of this opinion.

32. Illiteracy is the cause for Ignorance. Ignorance is the cause of
Nlliteracy.

33. Have you stopped condemning your parents ?

34. He met with an accident after getting the divorce. Therefore
getting divorce is the cause of his accident.

A) Answer any two of the following questions : 2x5=10
35. State the advantages of Hypothesis.

36. Write the limitations of scientific explanation.

37. Explain the theory of causation of Carvaka.

B) Answer any one of the following questions : 1x10=10
38. Explain the differences between induction and deduction.
39. Explain the method of concomitant variations.

Answer any two of the following questions : 2x5=10

40. Explain the role of students in social service.

41. “The television is one of the best mass media.” Discuss.

42. What is your opinion about population explosion in India ?
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